EAST POINT SCHOOL CLASS-VIII
WEEKLY WORK PLAN-JULY- WEEK-2
ENGLISH

Unit 2 : Chapter 1 - A Day in the Country
VIDEO LINK: https://www.youtube.com/watch?v=02u2QcpjUeQ

Outline of the Story

A day in the country is a story about two orphans who were playing when a threatening storm appeared which forced
the residents to take refuge. Danilka, an eight years old boy, got his hand trapped in the tree. Luckily, Danilka’s sister
Fyokla, six years old girl went to the town for asking help. Terenty a cobbler, assured to provide assistance to her to
rescue Danilka. After the storm passed, the three enjoyed the splendors of the country the rest of the afternoon.
Danilka is fascinated by nature and its beauty.

Summary

‘A day in the country' is written by Anton Chekhov. It pays homage to an unsung hero, a homeless cobbler whose
name is Terenty. In the beginning of the story a beggar girl named Fyokla, who is 6 years old comes running through
a village. The village is preparing for an approaching storm. She addresses everyone as “uncle”. She is searching for
some particular person. She finally finds Terenty in the kitchen-garden. He is a “tall old man with a thin, pock-marked
face, very long legs, and bare feet, dressed in a woman's tattered jacket”. He does not look like a hero. But Fyokla is
searching desperately for someone to help in freeing her brother Danilka, whose hand is stuck in a tree. Terenty does
not give importance to the approaching storm and talking reassuringly in fatherly tones he goes to free Fyokla’s
brother.The story tells us that Terenty “answers all questions, and there is no secret in nature which baffles him. He
knows everything”. The writer further adds that indeed “all the villagers, generally speaking, know as much as he
does”. But the difference is that Terenty is willing to share his knowledge and time with the two orphan children. The
children love him for this reason.The two children retire to a deserted barn after spending the day with Terenty. And
Terenty goes to the tavern. Chekhov further tells about Terenty's sincerity and love for the two orphan children.
Terenty comes back later and puts bread under their heads making the sign of the cross while they are asleep. In this
way Terenty tries to make the lives of Fyokla and Danilka a little better than his own.

Complete the statement.
Q.1) Why was Fyokla looking for Terenty
Q.2 ) Why was Terenty respected?
Q.3) What was the effect of change of weather on the following-
Q.4 ) What happened to Danilka? What caused the accident? How did Terenty help him? Q5 What had Terenty
learnt about the ants and the bees?



https://www.youtube.com/watch?v=o2u2QcpjUeQ

Q6 Danilka looks at Terenty and greedily drinks in every word.
What is Danilka's mood here?

Where were they?

What was Terenty telling him?

Q7 Describe the change in Fyokla's mood in the story.
Q8 The story reflects Terenty's love for the children. Give three reasons to prove this.
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MATHS

PLAYING WITH NUMBERS
GAMES WITH NUMBERS

ACTIVITY
Reversing the digits — three digits’ number
Conversation between Minakshi and Sundaram
Minakshi: Think of any 3-digit number.
Sundaram: Alright, | have done so.
Minakshi: Now use this number to form two more 3-digit numbers, like this: if the number you chose is
abg, then

« 'the first number is cab (i.e., with the ones digit shifted to the “left end” of the number);

« the other number is bca (i.e., with the hundreds digit shifted to the “right end” of the number).
Now add them up. Divide the resulting number by 37. | claim that there will be no remainder.
Sundaram: Yes. You are right!

In fact, Sundaram had thought of the 3-digit number 237. After doing what Minakshi had
asked, he got the numbers 723 and 372. So he did:

237
23
72

+
fsd fsd |

32




Then he divided the resulting number 1332 by 37:
1332 + 37 = 36, with no remainder.

Check what the result would have been if Sundaram had chosen the numbers shown below.
1.417

2.632
3.117
QUESTIONS:
Q-1) Find the value of letters A, B and C
A B
x 3
CA B
Q-2) Find the value of letters A and B.
1 2 A
+ 6 A B
A 0 9

Revision questions for Rational Numbers and Powers and Exponents

Q-1)Q-1) (-1)!°° =

i.
ii.

iii.
iv.

Q-2) (-1 =

i.
ii.

iii.
iv.

-1

1

0
100

-1
1
0
51

Q-3)am™xa" =

iv.

Q4 (5°-49 (5°+4%)=___

Q-5) If 'y’ be the reciprocal of rational number 'x’, then the reciprocal of 'y’ will be

m+n
a

amn
am-n
an-m

1



I. X
ii. y
iii. xly
iv. y/x
Q-6) Solve using suitable property:

-4 3 15 -14
— X = X=— x(—)

5 7 16 9

. 1
i =

2
i. 2
i, 1
iv. 0

Q-7) Which of the following is not commutative for rational numbers:

i. Addition
ii.  Multiplication
iii.  Subtraction

iv.None of these

4 -7 2p-1
Q-8) Find the value of pif (3) x (2) = (2)
Q-9) Represent -5/6 on number line.

Q-10) Express in Usual Form:

. 4.05% 1073

. 6.55 x 107

Q-11) Convert into standard Form:
I. 0.00000000405
il. 0.0016

Q-12) Simplify [ (22)3 x 3°] x 5°



METALS AND NON-METALS -NOTES

MIND MAP

MATERIALS

® GASEOUS OR
SOLID STATE
metal oxides
* NON NON- e Reaction with
MALLEABLE METALS water: Generally,
® NONDUCTILE non-metalsdo not
e NON SONOROUS react with water
e POOR e Reaction with acids:
CONDUCTOR OF Generally, non-




EXPLANATION

Elements can be classified into the following two groups depending on their physical and
chemical properties:

> Metals
> Non-metals
Metals:

Those materials which possess the characteristic of being hard, shiny, malleable, ductile, etc.are
termed as metals. Few examples of metals are iron, gold, silver, aluminium, copper, etc.

Physical Properties of Metals:

B3

% Solid: Metals are solids at room temperature, except mercury, which is liquid atroom
temperature.

They are generally hard and strong but sodium and potassium are soft solids and canbe cut
with a knife.

** Lustrous:
It is that property of metals which makes them shine and their structures are capable of

reflecting incident light. Metals such as gold, silver and copper all have lustre, thatis they
have an ability to shine and reflect light. Therefore they are lustrous.

R/

< Malleability:

It is that property of metals which allows them to be beaten into thin sheets.

Due to presence of this property, the shape of iron nail and aluminium wire can be changed
on beating. The silver foils used for decorating sweets and the aluminium foil used for
wrapping food are possible because of malleability property of metals.



R/

«» Conductivity:
It is that property of metals which allows the current and heat to pass through themeasily.
Example: Metals like iron rod, nail, copper wire, etc. are good conductors ofelectricity.

®,

< Ductility:
It is that property of metals which allows them to be drawn into the wires. Example:Metals like
aluminium and copper wires are used in electrical connection.

Q

% Sonorous:
It is that property of metals which produces ringing sound on hitting.

Non-metals

The elements which are brittle, dull cannot be beaten into sheets or drawn into wiresand are poor
conductors of heat and electricity are termed as non-metals.

Few examples of non-metals are phosphorus, sulphur, carbon, oxygen etc.

Physical properties of Non-metals:

< Non-metals are gases or solids at room temperature, except bromine which is liquid atroom temperature.
Solid non-metals are soft and dull. They break down into a powdery mass on tapping with a hammer. For
example, coal and sulphur.

Non-metals do not have lustre except iodine and graphite.

They are bad conductor of heat and electricity.

Non-metals are brittle that is they are neither malleable nor ductile.
Non-metals are non-sonorous.
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Topic:- Ruling the Countryside
Sub Topic 1:- The company be came Diwan



Revenue for the company
Three Land settlements
Learning Objectives:- Students know how the East India Company became ruler of India
and how they started collecting taxes.
How they started introducing new settlements and new policies
Methodology:-PPT, Video and word file
You tube link:-https://www.youtube.com/watch?v=wkBG5rjQ500
Activity:-Make a comparative table between all three land Settlements introduced by the
East India Company

The Company Become the Diwan

The East India Company became the Diwan of Bengal, on 12 August 1765. As Diwan, the Company became the chief
financial administrator of the territory under its control. The Company needed to administer the land and organise its
revenue resources. It needed to be done in a way that could yield enough revenue to meet the growing expenses of the
company.

Revenue for the Company

he Company’s aim was to increase the revenue to buy fine cotton and silk cloth as cheaply as possible. Within a span of five years,
1e value of goods bought by the Company in Bengal doubled. The Company, before 1865, purchased goods in India by importing
old and silver from Britain. Now it was financed by the revenue collected in Bengal. Artisanal production was in decline, and
gricultural cultivation showed signs of collapse. Then in 1770, a terrible famine killed ten million people in Bengal.

Assignments:-

1.Describe the main features of the Permanent Settlement.

2.. How was the mahalwari system different from the Permanent Settlement?

3. Give two problems which arose with the new Munro system of fixing revenue.


https://www.youtube.com/watch?v=wkBG5rjQ50o

Blackboard Summary:-

When Where who Merits Demerits
Permanent In the vear of | First Bwv Charles | Worst This affected
settlement 1793 introduced in | Earl condition of | the landlord if
Bengal and | Cornwallis farmers were | they failed to
Bihar improved and | pay the fix
they began to | amount thev
growing more | had to lose

crops their land

Mahalwar: In the vear | Utter Pradesh | By Holt | It gave a | Landlords
Settlement between & Punjab Mackenzie cooperative were absent
1787-1876 farming and | because they
gave the | knew work
maximum could be done
benefits to the | in their

farmers absence

Ryotwari In the vear of | In the | By Thomas | There was no | The rate of
Settlement 1820 Bombay MNunro maiddle man | tax was very
and tax can be | high which
collected was based on
directly from | the potential

the cultivators | of the soil
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